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KENDRIYA VIDYALAYA SANGATHAN, KOLKATA REGION

SESSION ENDING EXAMINATION (2018-19)

SUBJECT: ECONOMICS
CLASS- XI
MM - 80 Time Allowed—3 HRS
eyt . o Y
i

] General Instructions :

i. All questions in both sections are compulsory. However, there is internal choice in seme

questions.

At wel 3 w war ifAar €1 et o wat i siaRe aua RA AT

Marks for questions are indicated against each question.

TS 0% & AuiRa 3ie 3890 e A aw &)

Question No.1-4 and 13-16 are very short answer questions carrying 1 mark each. They
are required to be answered in one sentence.

i
Et

& : . o
WA 144 3iR013-16 31 9Y 309 94 8, Tt @ 130 ¥ s ueds @ S 0@
. g d@anma b

\"&5,9_%; iv.  Question No.5-6 and 17-18 are short answer questions carrying 3 marks each. Answers to

them should not normally exceed 60 words each.

TR HEAT 5-6 3R 17-18 F T 30807 UA §, Fd UcAS &1 316 3 ¥ 395 I @
7 H 60 2reet & 3 A e T

Question No.7-9 and 19-21 are also short answer questions carrying 4 marks each.
Answers to them should not normally exceed 70 words each.

W EEAT 7 - 9 3R 19 21 M Y 3A0T 9 & ad @ uAd 1 3F 4 E 3aF 3w
AT FY J 70 et F 77 ¢t gl Tifew]

Question No.10-12 and 22-24 are long answer questions carrying 6 marks each. Answers

Ty,

“to them should not normally exceed 100 words each .

W wEA 10-12 AR 22-24 & 3989 uH €, oeTet @ us & 3F 6 ¥ 394 39T Ty
FTY 100 <2t F 371 A¢ @1t Tl
vii.  Answers should be brief and to the point and the above word limit be adhered to as far a¢
possible.
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SECTION-A (MICRO ECONOMICS) ‘
N Why does an economic problem arise? I
S Faream ot sege Al
OR R 5
Define opportunity cost . |
e drerd a IRHTR Hifsd | |
2 | How is Total utility derived from marginal utilities? 1
Haia TR @ Pl STNNT R o Ay S 77 |
3 | Define the Law of Diminishing Marginal Utility. E
araaTa e ST @ e s aReita s
4 | Give the equation of budget sct. T
ToTe AT T THIHT QAT
OR E
* [ Whyis Indifference curve convex to the origin? 3
TEEA T I e I AN G T erell 82
St Whydoes the PPC look concave to the origin? |
Calculate the marginal opportunity cost of Bats. Comment on the shape of the PPC. |
ferehe & aeet Y HiarTa rawR AT B 0T HIAT| SeUTET FHEAT IF H |
AR R ferguft Hifdw :
Combination Production of Cricket bat | Production of Machine toy
A g 75
£ D 70
L 2 62
D : 50
N Distinguish between increase in supply and extension in supply. 3
L RS A PR oM 9o 3% e s e e |

)
ey

35/KVS(KOL)/SEE2018-19/ECO. /X 2

Turn Over




T Explain elasticity of demand of followings :
feafaf@a & R s & ara & carea HifT:
(a) Availability of substitutes
vfaeurae avq it suaeydrn
(b) Nature of goods.
e 1 R

OR |

Explain how the following affect the demand for a product
TG 5 Ry, e 1 1T 1 4 waRIer e &
a) Price of complementary good
Wb T H Hraaa

b)  Future expectation of change in price -

HRsT & HrHa uRada & GHEaaT

8 | Determine Producer’s equilibrium from the following data through MC-MR approach.

Give reason.

MC-MR EBHIOT & AT § o=t 3mpst & scuresd Hqere & ko fifse
PRI
Output(units) 1

Average Revenue (AR) | 12 11 10
Average Cost (AC) 4 5 6 7

O
o0

- Explain the implication of the following:
feafafa @ Afkard we fitw:
a) Large number of buyers and sellers under perfect competition

qot Ufa e & e shar 3R frosar Hr a8 w=ar

b) Interdependence of firms under oligopoly

HeUIFRAPR IR & ded BHAT B FeRar

f OR
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\\\ .
The Quantity demanded of a commodity at a price of Rs.10 per unit is 800 units. Its

Price falls by 25% and quantity demanded rises by 200 units. Calculate its price
EIaSticity of demand . comment on the likely shape of the demand curve based on this
Informatjon,

103 fey gapms &Y &3 @ wa aw) Y AT 800 STHIZAT | ST B 3 25% P A
RN R FHIIT 200 SHESAT T@ AT & | AT Y Prore eirer oY 0T Y| 57 FTAFTY
& HIUR WX AT Ieh &b TG 3R uT Froqofy ¢

10

Explain the consumer equilibrium under the Indifference curve analysis (ordinal
analysis).
HATIAT T IHTUROT & et SUHHT HeJore B carear &Y

11

government gives subsidy on the goods X. How the equilibrium price and quantity
will be affected?

mmuﬁ;mxa?ﬁvmﬁqaaﬁ%mﬁwéaﬁxwm/
m.m%,mﬁmwmwavﬁ?maﬁr@masﬂrmm

Suppose the market for good x is in equilibrium. Explain the chain of effects if the | 6

12

Explam the L;w off'"variable Proportion with the help TP curve, Explain the behaviour
of TP using a schedule and diagram.

OR

Giving reasons, state whether the following statements are true or false.
a) Average cost falls only when Marginal Cost falls. |

b) The difference between Average Total Cost and Average Variable Cost is
constant.

"
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SECTION-B (STATISTICS)

13 What is the frequency ?

Jmgfe T 2

14

1) Mean

ii) Median

iii) Mode

iv)  All the above

Data represented through a histogram can help in finding graphically the

3 AT & areas et T4y Hies Y@idd Wit 7 A B Thdl &

OR

Ogives can be helpful in locating graphically the
a) Mean

b) Median

¢) Mode |

d) All the above

dRor & Age J [WIAF udT Ieldm &

a) AT

b) #TCHHI
c) KIET*F'IF
d) 39 gelt

I FEREASREN] e PR
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15

Giv - ) . .
¢ any one difference between exclusive and inclusive series.

OISt QS 2 TR efrert 3t S T 3 T

16 | Define statistics in singular sense

TFaae & & & gifead & uflismr Hiaw

' . | A
17 | Present the following data with the help of a pie-diagram. | 3

et R oy gt & ARl 3imes wedd $

Items Food Clothing House rent | Miscellaneo
us
% of 42% 20% 18% 20%
expenditure
OR

In class XI, there are 120 students, out of which 70 are boys. Out of total boys, 30 boys |
belong to science stream and 25 are students from Humanities stream. There are 10 i
girls in science stream and 35 in the commerce stream. Present the data in a table.

Taredt et 3, 120 o €, el @ 70 92 €1 oI 5Dl A /, 30 TS5 [T T
¥ ¥ 3R 25 AATAH TH & o1F £ T8 T 3 10 3R FFT T A 35 TR
€| anforet 3 3mes TR |

18 | State any three merits and demerits of Arithmetic Mean.
RO AT o fonely Y eftet aqoT 3R 3raeqor ford

('S

19 | Explain any four difficulties in construction of index number. 4

s & fAaATor 3 el off TR szt i carear oY

OR

Explain the uses of Index number,

e $I fheer TR g i e Hifsw|

35/KVS(KOL)/SEE2018-19/ECO./XI 6 Turn Qver

_};.q n
< S

Scanned by CamScanner




20

e, Rreree Rl grT el 3mast § Sy ATl i Hfs |

4
Calculate the coefficient of correlation of the following data by the Spearman’s Rank
correlation method. Comment on the degree of correlation.

TIRAT Y AR FanTear RARY gry et faia Hdhsl § HEHAU 0T 6B I0TAT
Y| HewaY &1 uRaror ¥ fRegofy fifs
X 19 24 12 23 20 16 |
Y 9 22 20 14 24 18 |
21 : : = 4 |
Calculate the Price Index Number by using Laspeyer’s method for the following data.
By 3RS T AR 1 R a1 ST e e HAi Y Il L
Commodity | 2004 2018
Price Quantity Price Quantity
Rice 10 30 12 50
Ghee 8 15 10 25 |
Wheat 6 20 6 30 = |
sugar 4 10 6 20 \ \
| S
22 | Calculate arithmetic mean by step deviation method from the following: \

Marks(More Than) 0 5 10 15 20 25 | | \
IR & HAF) \ \
No of 53 [33 |26 24 15 5 \\
students/fa=m it &fr \ '
&

4
a) Define standard deviation. AT/ TAT farareler iy o | 6
b) Calculate standard deviation for the following data fAFIfTRT IS & fow
o) T R S A
X 0-10 10-20 20-30 30-40
2 3 4 1
OR
35/KVS(KOL)/SE52018-19/ECO-/X| 7 Turn Over
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Fer frarerd TS
epYeTepIcl HHTIT
gara gdier, 2018-19
fawg- R ( Hfgd )

HaTT- TURE
80

b

FHG- fid €
s &
fAFafaf@a areaier @ geat & T WA & 3 A 10

gl &1 fde, aieret i der IR ggar eafh H Mur ¥, sHH HUOT ¥l HIE
Il HUR SFAHAE $ A Ale ocl &, A3 & dro g@ae 3R 057 @ do-fig o=
AT &1 S ST YA I1T P TS BT UETS dATR SURYT R &, d TP HR Fal
gadarer & &F $ir oien forar wXA ¥, a8 e AR @Y & FHT o HHRoT AT
forar @t &1 AT & geaX didadral |, AU a0 B FHROT Wiad I Saardr
¥ ayr 08 el 3R deradl H U SeEddl 8 S 3H THT # 8 & F I
% o @ Fa Fa §1 ol & reqeree, aoft &1 @9 3R wgee qur aoh &
frora o ofth ® S & #fea Bufa d g g & wh 8, S WA & v
fr ot fr wHfaAt # g I TAC @A ¥ OB Ggd P A A VLT qU
FMHT &S Tear o qU R1 TS AN GfdAT IR AT B Fg & ar ¥ v @fe
T 3 e 3@ cAfth B WE @1 ¥ O agd &t § ag www F 3@ w
T TN STl &I AT B arelt, @D AR RADRS S| T Al @ au ¥

(@) W i F cafen v e 3R HRdoT fRY aar e ¥ 3R i 2 5

| ‘f_(:ﬂ) Rp TR &1 Gl THG el fohaT Sirm § 2 . 2
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(@)  arcaier & a WU § 7

&) i aw & feufa @ o dR e @ A 2

(@) dR cafe g 3 R ave REd € ?

3. fwffta & @ el @ Rvg w @y e
(@) RE P T R |
(@) SfienTor
()  FAERAE AQMS . FHREN AR FaUE
(M) WA R FTD

4. U e gded I WX AV & AU 90, Reeq @l A IeaesdT SEa] e
§U1 $9 W I RER oIeh o §U 36 T & Ged AR B v 03 R

IR GUR &1 Iy fifsre

fore afde SIROr, Bre@Ear & dues @ U3 AR

fAFfaf@a u4t & 3o weiv F RAR-

(%) T@AAaqd & fred) & R it & e R |
(¥) FHCGR & B IR ded A0

(1) Hareerar frd ded @ ?

(g) WAIR-UT FIT T §?

5

RER # AR qed 1 W Reh Fhe § 3R WHR o1 O HHT 5 &

1#+1+1+1=4

_%:'.'Wmﬁﬁﬁﬁm"ﬁwmwmmm R 3
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B R P L T WP

(@) forore &l o= ar ?

@) fraE & Fear & #a o @ ?
8.  Mefofld aweaivr & wmur o R @ wait & 3EK AT 3434
U FTA-PIY IeoR A€ regely
# S USR T K aw AT e ¥
WSI-WE YU G aelr ¥
38 T3 IS @ar ¥
3 F ewl T X ¥ g9 TR
fAewer #a ¥

(&) @R & ugew #wr W REr Hfso)

(@) Frarr &1 Rey-dizd we o)

() AR 1 Hg-Wed Wy A
Hyar

3gaa Jo Hifa-dif, dwr-afer vy

39 a afa Sfer 718, nvig-war @A

() AT & AT digd W yar sfaw)

(@) AR # 9gd PR B TE A

EroK v

(1) wregrr i HTST H RARAnd aasv

. PR @ el o v B SR AT -
a @ PR F s 3R 9o & oo RS arer it fr frer R A R T
fomar & 2
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3

) AR 9w qeh i E
(0 F9F g qeer & fore o & & & R @ 8 a4t el & ?

2+2+2+1=7

10.  eaffRg e & 3R wust & sax S

qa?ﬁamﬁw%qﬁﬁz*mﬁauﬁ-wmafﬂmmﬁgmﬁ
w&mnmlmgmﬁ;ﬁaarﬁmawmmﬁﬁwﬂgaﬂam
STT| FROT TE AT 5 IW O3 W U W Ugar dAfrar 5T F gUEHAAN A

AU & Jid & FIAT UT| T IR TE U IeT IAT AT SH a1 BT Pl I
g7 5 dieifaar TeR 8@ &R Y9y Har & forw faors S

(@) @i, del AR FT Tgd ?
(@) 3c¢ @A e 4 foraa Aap &ar 2

@) FH AP F GRS FT g fear 4w 2
() m%mmmﬁ"gﬂmmﬂ?

3Hyar

$H S & FfhA T AT G ATId A, AoN-FeRTT 3 Rad & goa @1y ard
mmanmmam#mmm;mammm$m
# i e A-Ws Se| fra @ Bred-as & R 3R pu b A
993 TPl 9 AU AU TH RN F 3w w4 A Rew omaA @ T,
TN 3515 51 497 & & BR W 3RE 1@ 921|373 @ a7 a5 7 Te
&t 3T fn WISl JER 3% SO UE W R 7 @ W 3R s s TR
& AN FEAST e el gz, 95 3 FOR B I Seh TEr T e A
a T, mﬁm’rﬁmaﬁmwﬁml

@ mmﬁmmamf i

-

i< s
i i’
&
= :
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11.

12.

13.

29/KVS (KOL) /SEE 2018-19/ Hindi / XI

(@) WS doler & ar-an g FE fv 2

@) WiE B B A fhE AR FIHT ?

(F) o olel A S¥HT a4t STfler famar 2

Arafaftg & 3 e da ust & s oo . 3434329
(F) AeA & TE@IH I & I & GAT P WP o 3Ub oAlded & TP A4
Ay At T § ?

(@) Raie &, @ e sl 58 qu & o R 3@ a7 oA B Brad 39
e A fhaa A AR | - 3merr ¥aw A

() UoR& @ Aed & 5w Faer W IF Bar ¥ 3k w1t 2

() GdT B3 HIGa Ueh T &, I8 a1 8 ud1 Ioht 3R 37 AT 7 s 7
AT W AT HHT g7 ?

¢l 5l & ey waremst W ave RER g A

3rogan
TorEdrT # g% fFR ded ¥ 2 suh s AR o @ e gt & o
AR g & @ AR BT & 2 4
Reafaf@a & @ 5 & ust & 3w v 4+4-8

(F) Rreue Foia 3 o & B QT RT- 3RR T@ HRT SR ST @
5q Hedt 3 AR T A 1T AR U I @y

(@) VIART & FIY AA-HAS & AR A gl A Joar d IS R BF 370
£ 72 U8 & YR W I3
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26/KVS(KOL)

KENDRIYA VIDYALAYA SANGATHAN, KOLKATA REGION
SESSION ENDING EXAMINATION (2018-19)

SUBJECT : BUSINESS STUDIES

CLASS : XI
Time Allowed : 3 Hours T - "
General Instructions :
(i) Answer to questions carrying I mark may be from one word to one sentence.
(i) Answer to questions carrying 3 marks may be from 50 to 75 words.
(iii)  Answer to questions carrying 4-5 marks may be about 150 words.
(iv)  Answer to questions carrying 6 marks may be about 200 words.
w) Attempt all parts of a question together '
l:wo. [ QUESTION _ MARKS
' [Fs I[ Seema cooks food at home. She takes the food to market for sale. On the way she :
| L , finds few hungry children. She gives all the food to hungry children without charging
| any money. In which type of activity is Seema engaged ?
i Name the type of partnership which is formed for a specified time period to :
I accomplish specific project. -
J: ! Which type of organisation is formed under Special Act of the Parliament? :
4. / I

A person did not disclose about his heart disease to insurance company while taking
a life insurance policy. Which principle of insurance he has violated?

Name the main document on the basis of which custom office gives the permission I

for export.

Whai are Inter Corporate Deposits?

Name any two institutions set up to promote small industries set up in rural,
backward and Hilly areas.

What is the full form of E&OE used in internal trade ?

Arun, Bimesh and Czar are partners in a partnership firm manufacturing air
conditioners, Their firm is not registered .Recently, in order to increase the profits of
the firm, Bimesh decided to use substandard raw materials without the knowledge of
Arun and Czar. As a result, many accidents were reported by consumers and a case

has been filed against the firm.
i) Is this wrong act of Bimesh binding on Arun and Czar too?

(26) /KVS (KOL) /SEE 2018-19/B.St. / XI
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ii)  Can Arun and Czar file a case against Bimesh? Give suitable reason.
3
10. : R E
Which enterprise is formed when two or more firms join together for a corn.mo;l
purpose and mutual benefits? Name and explain any two features of such enterprise 5 J
0 Identify and explain the type of Bank account which has the features of both the |

Saving account and Fixed deposit account. 1
" : harm the ‘
“Some individuals or firms steal data either for personal motive Or W 3 |

12. | business.”

i) Identify and explain brief]
statement.
ii) How this risk can be reduced ?

F 3- | Sohan had aspired to start Thau food restaurant from his childhood. On completing
his education he shared his childhood dream with his father. Therefore, the father-son

duo decided to approach nearby bank for obtaining loan. His father’s foremost

concern was to raise finance for the business as his savings would be insufficient for |

stating a business. :

Two type of funds on the basis of ownership are being discussed above. Identify and

| differentiate between them by giving any three suitable points.

y the type of e- business risk highlighted in the given

3

14! What are the basic functions of Indian Chambers of Commerce and Industry ? (Any.
) AL 4 i Agias a\ il:ﬂ-“;: 3 :\: | : | : . V ; & 5

13| Name the following - . "

_ a) A person who lends his name and goodwill for the benefits of a partnership
firm. : 7

b) A person who contributes capital, participates in the business but whose
identity is not disclosed to the outsiders. O D ;

e) The organisation where members associate together on the principle of mutual
help and common interests.

d) A company having at least seven members.

16 : Gi_v? any four diffcrences between Life, Fire and Marine Insurance. 4
17. | Whatis the need of Outsourcing for a business concern? ' 4
18. k.

| What are the various incentives/schemes provided by Government of India to SSIs | 4
_ | for industrial development of rural, backward and hilly areas?

. X Has obtained the export license as per the EXIM Policy for exnarting hie | 4
i ‘ y for exporting his
‘factu/red goods to USA. What are the next four steps he has to follow for eipott

in lc:i liability, perpetual 'sucéession, separate legal entity, separation of | §
.and management and a common seal of its own’. Name the fom{ 6f
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organization. Give two advantages and two disadvantages of such organization.

21.

Star Ltd. Is a well known rea] estate company in India. The activities of the company .
are governed by values of Truthfulness, Respect, Justice, Commitment, Trust,
i) In context of the above, what are the socially determined values which

ii) Explain the elements of the same,

122,

govern the activities of a business knownas? ‘\

ided to moderhize the plant and machinery at \, 2

are in a fix whether to issue equity shares or
ance manager of the company you advised the
e of equity shares, *

of above statement explain the merits of Equity Shares, (Any Five)

“The directors of Shikha Ltd have dec
estimated cost of one crore, but
debenture for this purpose. As a fin

directors to raise money through issu
In the light

238

member nations, What are the main objectives of this organization? (Any Four)

Name the organization that has been established to promote free trade among its -

24,

“Profits play an important role in the business.”

Give any four reasons to justify the
statement

OR
Rohit wants to start a wholesale business of readymade garments, but he is hesitating
as it involves various problems such as searching for Ccustomer, for moving goods
from place of production to market, informing customers about new design and |

verities added every season, threat of risk loss by fire or accident, storing the excess |
stocks of good etc. :

'1

&

erce, which can help Rohit to overcome his hesitation.
%gate the type of business Rohit is planning to start.

Ny TR

<L Statp which dimension of business can help Rohit to overcome these

¢. Specify different type of Auxiliaries to trade which can help Rohit to
overcome his problems. Quote the lines for which type from above para.

He approaches his friend Mandeep who explained him about some branches of ‘a‘

2.

Government Company.
OR

Statutory corporation.

|
|
What is meant by a Government Company? Explain briefly any five features of a 6 N

What is meant by a Statutory corporation? Explain briefly any five features of a

1 26.

(Any six points)
OR

Explain the process of Entrepreneurship.

What is the role of Small Business in improving economic conditions of Rural India? 6

(26) /KVS (KOL) /SEE 2018-19/B.St. / XI 3
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KENDRIYA VIDYALAYA SANGATHAN, KOLKATA REGION
! SESSION ENDING EXAMINATION (2018-19)
SUBJECT: ACCOUNTANCY

CLASS- XI

General Instructions :

1) This question paper contains two part-A & B
2) All the questions are compulsory.
3) Marks are indicated against each question,
4) Answers should be brief and o the point.

3) Show your workings clearly wherever necessary,

Part A : Financial Accounting-1

1 If the capital is IOOQOO and outside liabilities are 250000, find the total assets

(1

25 Write two examples of Fictitious Assets. (1)
OR

Write two examples of Intangible assets.

A firm received a large order to supply goods. Will it be recorded in the books of account of
the firm? Give reason. (1)

4 At the end of the accounting period, factory rent of the company is outstanding for 10000 and

duly recorded. State which accounting concept will be followed in dealing this transaction.
. (1)
5. Closing stock is valued at lower of cost or market price. Identify and explain the concept of
accounting applied here. (3)
: 6. State two features of Promissory note : 3)
OR
Calculate the due date/ maturity date of the following bills
(25) /KVS (KOL) /SEE 2018-19/Account / XI 1 Turn Over
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13.

15.

(25) /KVS (KOL) /SEE 2018-19/Account / XI

Provision' or Depreciation A/c as on 01.04.2014

Prepare an accounting equation on the basis of the following :-
Started business with cash 70000 and stock 10000

a)

b) Credit purchase of goods 18000

c) Payment made to creditors in full settlement 17500.

d) Paid salary 20000 and Outstanding salary 2000 4)

State and explain the principle of Materialism and Consistency. 4)
" OR

State and explain the principle of Matching and Historical Cost

Abhimanu Ltd. purchased on 1% January, 2009 4 machinery for Rs, 36,000 and spent Rs. 4,000
on its installation. On 1* July, 2009 another machine purchased for Rs. 20,000. On 1% July.
2011, machine bought on 1* January, 2009 was sold for Rs. 12,000 and a new machiﬁé
purchased for Rs. 64,000 on the same date. Depreciation is provided on 31* December @ 10%
p-a. on the written down value method. Prepare machinery A/c from 2009 to 2011. % (6)

OR

The following balance appear in the books of Salman Khan and Sons :

A/c as on 01.04.2014 Rs 5,00,000
Rs 2,25,000

The Machinery was depreciated at 10% p.a. on fixed instalment basis, on 1% Oct 2014, a
machinery which was purchased on 1% July 2011 for Rs. 1,00,000 was sold for Rs 42,000. And

on the same date a new machinery was purchased for Rs 2,00,000.
Prepare Machinery A/c and Provision for depreciation A/c for the year 2014-15 assuming

Books are closed on 31* March every year.

Rajiv sold goods to Pankaj for Rs.40,000 on January 1st, 2011. On the same date Rajiv drew a
bill of the same amount at 3 month on Pankaj. The bill was accepted by Pankaj. Rajiv
discounted the bill with his bank on 4th February, 2011 @ 12% per annum. On date of
maturity, the bill was dishonoured and noting charges Rs.200 were paid by bank.
Pankaj agreed to pay Rs.10,200 and accepted another bill for the remaining amount for 3
months together with interest @ 9% per annum. On July 4, 2011, Pankaj becomes insolven:
and a first and final dividend of 60 paise in a rupee was received from his private estate on 151/:

July, 2011.
Give Journal Entries in the books of Rajiv.

~ Pass rectification entries for the following transactions:

I Preeti was paid cash 2800 but Jyoti was debited by 2000.

Turn Over
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